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Note: All questions are compulsory. Carrying of mobile phone during examinatio ill be
treated as case of unfair means.

Q1 zi) Remove the null production from given CFG. ' (2*6=12)
T i) S > ABAC ii) S -> AB. .
A->aA/e A->aAA/¢
B->bB/¢ B->bBB/ ¢
C->c¢
b) Remove the unit production from given CFG.
i) 8-> Aa/Blc ii)§ > Aa|B
B -> A/bb A=>b|B
A->abeB B->A|a
¢) Remove the useless symbol from given CFG, , %%ﬁ
) S > AB/a y P
DS AN if) > AB/AC
B '> aB/C ~ A ->aAb/bAala
P '> C/B B > bbA/aaB/AB
A C -> abCA/aDb
Q-2 What is the Chomsky classiﬁg;ﬁ%%aﬂ Explain Type 0, Type 1, Type 2 and Type 3 grammar. (5
%
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Q.3 Why the parse tree is i 4 &text free grammar. Explain the rightmost and leftrnost derivation 4)
of parse tree with help#f s#itable exémple.
Q.4 What do you meah k aous grammar? How it can affect the working of context free grammar. 4
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7 !
%,

“%j% b &



